



Some transcendence properties of integrals of Bessel functions

Gulsah Oner^{a,*}, Mikhail V. Neschadim^b, Tahsin Oner^c

^aDokuz Eylul University, 35210 İzmir, Turkey.

^bSobolev Institute of Mathematics and Novosibirsk State University, Novosibirsk, 630090, Russia.

^cDepartment of Mathematics, Ege University, 35100 İzmir, Turkey.

Communicated by K. Cieplinski

Abstract

We prove that some integrals of Bessel functions are transcendence over ring of Bessel functions with coefficients from the field of rational fractions of one variable. ©2017 All rights reserved.

Keywords: Independence, differential algebra, Bessel functions, transcendence properties.
2010 MSC: 33C10.

1. Introduction

In 1990 Lawrence Markus formulated the following problem:

Problem 1.1. Consider the differential field $F \langle J_0, J_1, J_2, \dots \rangle$, where F is the differential field of all elementary functions over $\mathbb{C}(x)$. Is $\int J_1^3(x) dx$ in this field $F \langle J_0, J_1, J_2, \dots \rangle$?

In the paper [11] the partial answer was obtained to this question. More exactly, Sibuya proved that

$$\int J_n(x) dx \begin{cases} \in \mathbb{C}(x)[J_0(x), J_1(x)], & \text{if } n \equiv 1(2), \\ \notin \mathbb{C}(x)[J_0(x), J_1(x)], & \text{if } n \equiv 0(2), \end{cases}$$

and also $\int J_1^3(x) dx \notin \mathbb{C}(x)[J_0(x), J_1(x)]$.

In this paper we develop a technique from the paper [11] and prove that

1. $\int J_0^m(x) dx \notin \mathbb{C}(x)[J_0(x), J_1(x)]$, if $m \geq 2$.
2. $\int J_1^m(x) dx \notin \mathbb{C}(x)[J_0(x), J_1(x)]$, if $m \geq 2$.
3. $\int J_n^2(x) dx \notin \mathbb{C}(x)[J_0(x), J_1(x)]$, if $n \geq 0$.

*Corresponding author

Email addresses: gulsah.darilmaz@deu.edu.tr (Gulsah Oner), neshch@math.nsc.ru (Mikhail V. Neschadim), tahsin.oner@ege.edu.tr (Tahsin Oner)

doi:[10.22436/jnsa.010.01.30](https://doi.org/10.22436/jnsa.010.01.30)

Received 2016-10-05

In connection with the obtained statements, the following hypothesis naturally arises:
Hypothesis. If $n \geq 0$ and $m \geq 2$ then

$$\int J_n^m(x) dx \notin \mathbb{C}(x)[J_0(x), J_1(x)].$$

Problems of this type are directly connected with the questions of differential algebra [3, 4, 7, 8]. At first, it is a statement as Liouville's theorem that integrals of some differential equations are expressed by elementary functions. Classical result of this kind is the theorem of Holder [2] that the Gamma function $\Gamma(x)$ of Euler is not a solution any algebraical differential equation over field $\mathbb{C}(x)$ of rational functions of a complex variable x . In our paper we use Siegel's theorem [12] about algebraical independence functions $x, J_0(x), J_1(x)$ over the field \mathbb{C} . Also these questions are connected with the problems of analytical theory of numbers and problems of transcendence. For example, Shidlovskii proved usual theorems on the transcendence and algebraical independence of values in algebraical points, a sufficiently wide class of entire functions which are solutions linear differential equations with polynomial coefficients (see [1]). Some consequences of this direction can be found in [5, 9, 10].

2. Main results

Let \mathbb{C} be the field of complex numbers, x the complex variable and let $\mathbb{C}(x)$ be the field of rational functions with variable x . For every nonnegative integer n , let us denote by $J_n(x)$ the Bessel function of the first kind of order n , i.e.,

$$J_n(x) = \left(\frac{x}{2}\right)^n \sum_{l=0}^{+\infty} \frac{(-1)^l}{l!(n+l)!} \left(\frac{x}{2}\right)^{2l}.$$

We consider the ring $\mathbb{C}(x)[J_0(x), J_1(x)]$ of polynomials in $J_0(x)$ and $J_1(x)$ with coefficients in $\mathbb{C}(x)$.

We remind some well-known facts about the Bessel functions [6, 13].

1. If $\delta = x \frac{d}{dx}$, then functions $J_n(x)$, $n \geq 0$, are solutions of the equation

$$\delta^2 y + (x^2 - n^2)y = 0.$$

In particular, $\delta^2 J_0(x) = -x^2 J_0(x)$.

2. The following recurrence relations hold:

$$\begin{aligned} J_{n+1}(x) &= J_{n-1}(x) - 2J_n(x)', \quad n \geq 1, \\ xJ_{n+1}(x) &= nJ_n(x) - xJ_n(x)', \quad n \geq 0, \\ J_{n+1}(x) &= \frac{2n}{x}J_n(x) - J_{n-1}(x), \quad n \geq 1, \\ J_1(x) &= -J_0(x)'. \end{aligned}$$

Here $\frac{d}{dx}$ denotes $'$. From the third relation it can be obtained that

$$\mathbb{C}(x)[J_0(x), J_1(x)] = \mathbb{C}(x)[J_n(x), J_{n+1}(x)], \quad n \geq 0.$$

From the second relation

$$\mathbb{C}(x)[J_n(x), J_{n+1}(x)] = \mathbb{C}(x)[J_n(x), \delta J_n(x)], \quad n \geq 0.$$

From these relations we obtain that the field $\mathbb{C}(x)(J_n(x), \delta J_n(x))$ is a differential algebra and it is equal to $\mathbb{C}(x)(J_0(x), \delta J_0(x)) = \mathbb{C}(x)(J_0(x), J_1(x))$.

Let $H_i = F_{mi}$, $i = 0, \dots, m$, $H = (H_0, \dots, H_m)^t$ is the vector-column, "t" - transpose, and

$$A_0 = \begin{pmatrix} 0 & 1 & 0 & \dots & 0 & 0 \\ 0 & 0 & 2 & \dots & 0 & 0 \\ 0 & 0 & 0 & \dots & 0 & 0 \\ \dots & \dots & \dots & \dots & \dots & \dots \\ 0 & 0 & 0 & \dots & 0 & m \\ 0 & 0 & 0 & \dots & 0 & 0 \end{pmatrix}, \quad A_1 = \begin{pmatrix} 0 & 0 & 0 & \dots & 0 & 0 \\ m & 0 & 0 & \dots & 0 & 0 \\ 0 & m-1 & 0 & \dots & 0 & 0 \\ \dots & \dots & \dots & \dots & \dots & \dots \\ 0 & 0 & 0 & \dots & 0 & 0 \\ 0 & 0 & 0 & \dots & 1 & 0 \end{pmatrix},$$

are the matrices of order $(m + 1) \times (m + 1)$. Then we can write this system as

$$\delta H + (A_0 - x^2 A_1)H = xe, \tag{2.3}$$

where $e = (0, 0, \dots, 0, 1)^t$. Vector-column $H(x)$ is a rational solution of this equation. The operator δ increases the degree of simplest fraction on unit

$$\delta \frac{1}{(x - x_0)^k} = \frac{kx_0}{(x - x_0)^{k+1}} - \frac{k}{(x - x_0)^k}, \quad k \geq 1.$$

Therefore, if we present $H(x)$ as the sum of simplest fractions and substitute it in this equation, then we obtain

$$H(x) = \frac{C_k}{x^k} + \frac{C_{k-1}}{x^{k-1}} + \dots + \frac{C_1}{x} + B_0 + B_1x + \dots + B_nx^n,$$

where C_k, \dots, B_n are vector-columns with elements from \mathbb{C} . It means that the decomposition $H(x)$ as the sum of simplest fractions has only fractions of the form $1/x^k$.

Substituting H into (2.3) and equating coefficients under identical degrees x , we obtain the system of equations

$$\begin{aligned} -kC_k + A_0C_k &= 0, \\ -(k-1)C_{k-1} + A_0C_{k-1} &= 0, \\ -(k-2)C_{k-2} + A_0C_{k-2} - A_1C_k &= 0, \\ \dots & \\ -C_1 + A_0C_1 - A_1C_3 &= 0, \\ A_0B_0 - A_1C_2 &= 0, \\ B_1 + A_0B_1 - A_1C_1 &= e, \\ 2B_2 + A_0B_2 - A_1B_0 &= 0, \\ \dots & \\ nB_n + A_0B_n - A_1B_{n-2} &= 0, \\ A_1B_{n-1} &= 0, \\ A_1B_n &= 0. \end{aligned} \tag{2.4}$$

Since the eigenvalues of matrix A_0 are equal to zero, it follows from first k equations that we find

$$C_k = C_{k-1} = \dots = C_1 = 0.$$

From the remaining equations, we consider subsystem with odd indices

$$\begin{aligned} (E + A_0)B_1 &= e, \\ (3E + A_0)B_3 &= A_1B_1, \\ \dots & \\ ((2s + 1)E + A_0)B_{2s+1} &= A_1B_{2s-1}, \\ A_1B_{2s+1} &= 0. \end{aligned}$$

For arbitrary matrix $A = (a_{ij})$ of order $p \times q$ over the field \mathbb{R} , we denote by $\sigma(A)$ the matrix of order $p \times q$ which consists of 0 and ± 1 , and $\sigma(A)_{ij} = \text{sign} a_{ij}$.

Now calculate sequentially the vectors $\sigma(B_1), \sigma(B_3), \dots$.

Note that if $u > 0$ then

$$\sigma((uE + A_0)^{-1}) = \begin{pmatrix} 1 & -1 & 1 & \dots & (-1)^m \\ 0 & 1 & -1 & \dots & (-1)^{m+1} \\ 0 & 0 & 1 & \dots & (-1)^{m+2} \\ \dots & \dots & \dots & \dots & \dots \\ 0 & 0 & 0 & \dots & -1 \\ 0 & 0 & 0 & \dots & 1 \end{pmatrix}.$$

Consequently

$$\begin{aligned} \sigma(B_1) &= \sigma((E + A_0)^{-1}e) = \pm(1, -1, 1, \dots)^t, \\ \sigma(B_3) &= \sigma((3E + A_0)^{-1}B_1) = \pm(1, -1, 1, \dots)^t, \\ &\dots \\ \sigma(B_{2s+1}) &= \pm(1, -1, 1, \dots)^t. \end{aligned}$$

But from the equation $A_1 B_{2s+1} = 0$, it follows that $B_{2s+1} = (0, 0, \dots, \star)^t$, a contradiction, and the proof is complete. \square

Theorem 2.2. For every $m \geq 2$, we have

$$\int J_1(x)^m dx \notin \mathbb{C}(x)[J_0(x), J_1(x)].$$

Proof. Proceed by contradiction: suppose that

$$\int J_1(x)^m dx \in \mathbb{C}(x)[J_0(x), J_1(x)].$$

Reasoning as in Theorem 2.1, we obtain the relation

$$\begin{aligned} x^m J_1(x)^m &= x^m \frac{\partial}{\partial x} F(x, J_0(x), \delta J_0(x)) + x^{m-1} \delta J_0(x) \frac{\partial}{\partial \xi} F(x, J_0(x), \delta J_0(x)) \\ &\quad + x^{m-1} \delta^2 J_0(x) \frac{\partial}{\partial \eta} F(x, J_0(x), \delta J_0(x)). \end{aligned}$$

Using algebraical independence of functions $x, J_0(x), J_1(x)$ and using relation $\delta^2 J_0(x) = -x^2 J_0(x)$ we obtain the identity

$$(-1)^m \eta^m = x^m \frac{\partial}{\partial x} F(x, \xi, \eta) + x^{m-1} \eta \frac{\partial}{\partial \xi} F(x, \xi, \eta) - x^{m+1} \xi \frac{\partial}{\partial \eta} F(x, \xi, \eta).$$

Considering homogeneous component of degree m on variables ξ, η we obtain the relation

$$\delta H + (A_0 - x^2 A_1)H = x^{1-m} v, \tag{2.5}$$

where $v = (1, 0, \dots, 0)^t$. Vector function $H(x)$ is a rational solution of this equation. Writing $H(x)$ as a sum of simplest fractions and substituting in the equation (2.5) and reasoning as in Theorem 2.1, we obtain

$$H(x) = \frac{C_k}{x^k} + \frac{C_{k-1}}{x^{k-1}} + \dots + \frac{C_1}{x} + B_0 + B_1 x + \dots + B_n x^n,$$

where C_k, \dots, B_n - vector-columns are in \mathbb{C}^{m+1} .

Substituting H in (2.5) and equating coefficients under same degrees x , we obtain the system of equations

$$\begin{aligned}
 & -kC_k + A_0C_k = 0, \\
 & -(k-1)C_{k-1} + A_0C_{k-1} = 0, \\
 & -(k-2)C_{k-2} + A_0C_{k-2} - A_1C_k = 0, \\
 & \dots\dots\dots \\
 & -mC_m + A_0C_m - A_1C_{m+2} = 0, \\
 & -(m-1)C_{m-1} + A_0C_{m-1} - A_1C_{m+1} = \nu, \\
 & \dots\dots\dots \\
 & -C_1 + A_0C_1 - A_1C_3 = 0, \\
 & A_0B_0 - A_1C_2 = 0, \\
 & B_1 + A_0B_1 - A_1C_1 = 0, \\
 & 2B_2 + A_0B_2 - A_1B_0 = 0, \\
 & \dots\dots\dots \\
 & nB_n + A_0B_n - A_1B_{n-2} = 0, \\
 & A_1B_{n-1} = 0, \\
 & A_1B_n = 0.
 \end{aligned}$$

Since the eigenvalues of matrix A_0 are equal to zero, we have

$$C_k = C_{k-1} = \dots = C_m = 0.$$

Let m be an even number. Then subsystem with odd indices has the form

$$\begin{aligned}
 & (A_0 - (m-1)E)B_{m-1} = \nu, \\
 & (A_0 - (m-3)E)B_{m-3} = A_1C_{m-1}, \\
 & \dots\dots\dots \\
 & (A_0 - E)C_1 = A_1C_3, \\
 & (A_0 + E)B_1 = A_1C_1, \\
 & \dots\dots\dots \\
 & (A_0 + (2s+1)E)B_{2s+1} = A_1B_{2s-1}, \\
 & A_1B_{2s+1} = 0.
 \end{aligned}$$

Therefore,

$$\begin{aligned}
 & \sigma(C_{m-1}) = (-1, 0, 0, \dots)^t, \\
 & \sigma(C_{m-3}) = \pm(1, -1, 0, \dots)^t, \\
 & \dots\dots\dots \\
 & \sigma(B_{2s+1}) = \pm(1, -1, 1, \dots)^t.
 \end{aligned}$$

But from the equation $A_1B_{2s+1} = 0$, it follows that $B_{2s+1} = (0, 0, \dots, \star)^t$, a contradiction.

Let m be an odd number. Then subsystem with even indices has the form

$$\begin{aligned}
 & (A_0 - (m-1)E)B_{m-1} = \nu, \\
 & (A_0 - (m-3)E)B_{m-3} = A_1C_{m-1}, \\
 & \dots\dots\dots \\
 & (A_0 - 2E)C_2 = A_1C_4, \\
 & A_0B_0 = A_1C_2, \\
 & \dots\dots\dots \\
 & (A_0 + 2sE)B_{2s} = A_1B_{2s-2}, \\
 & A_1B_{2s} = 0.
 \end{aligned} \tag{2.6}$$

It can be supposed that $B_{2s} \neq 0$. From the last equation, we find $B_{2s} = \alpha(0, \dots, 1)^t$, $\alpha \neq 0$.

Beginning from the first equation of system (2.6) we consistently find

$$\sigma(C_{m-1}) = \pm(1, 0, 0, \dots)^t,$$

$$\sigma(C_{m-3}) = \pm(1, -1, 0, \dots)^t,$$

and so on

$$\sigma(C_2) = \pm(1, -1, 1, \dots, 0, 0, \dots)^t.$$

where the first $(m-1)/2$ elements of vector C_2 are zero.

From the equation $A_0 B_0 = A_1 C_2$, we have $\sigma(B_0) = (\star, 0, 1, \dots)^t$.

Moving from the last to the first equation of system (2.6) we consistently find

$$B_{2(s-1)} = \alpha(0, \dots, 0, m/2, 2s, \star)^t,$$

$$B_{2(s-2)} = \alpha(0, \dots, 0, m(m-3)/8, (m(s-1) + 2s(m-1))/3, \star, \star, \star)^t,$$

and so on. Since $\sigma(B_0) = (\star, 0, 1, \dots)^t$, we have $s \geq (m-1)/2$. Hence when we move from the vector B_{2k} to the vector $B_{2(k-1)}$ we obtain two nonzero elements on the places where there were two last zeros of the vector B_{2k} . Therefore, there is such a number k that

$$B_{2k} = \alpha(0, x, y, \dots)^t.$$

But from the equation

$$(A_0 + 2kE)B_{2k} = A_1 B_{2k-2},$$

we obtain

$$(A_0 + 2kE)B_{2k} = \alpha(2kx, \star, \dots)^t,$$

$$A_1 B_{2k-2} = \alpha(0, \star, \dots)^t,$$

a contradiction. Thus, the theorem is proved. \square

Next we need eigenvalues of matrix $A_0 + n^2 A_1$. The following lemma holds.

Lemma 2.3. *The eigenvalues of the matrix $A_0 + n^2 A_1$ are equal to $(m-2k)n$, $k = 0, 1, \dots, m$, and the coordinates eigenvector v_k , corresponding to the eigenvalue $(m-2k)n$, are equal to the coefficients of the polynomial $f_k(x) = (1 - n^2 x^2)^k (1 + nx)^{m-2k}$, arranged in the order of ascending powers of variable x .*

Proof. Let $f(x) = a_0 + a_1 x + \dots + a_m x^m \in \mathbb{C}[x]$ and $f'(x)$ its derivative on variable x . Consider the vector $v = (a_0, a_1, \dots, a_m)^T$. We have

$$(A_0 + n^2 A_1)v = (a_1, 2a_2, \dots, ma_m, 0)^T + n^2(0, ma_0, (m-1)a_1, \dots, a_{m-1})^T.$$

Since

$$a_1 + 2a_2 x + \dots + ma_m x^{m-1} = f(x)',$$

$$n^2(ma_0 x + (m-1)a_1 x^2 + \dots + a_{m-1} x^m) = -n^2 x^{m+2} \left(\frac{f(x)}{x^m} \right)',$$

it follows that it is enough to prove the equality

$$f_k(x)' - n^2 x^{m+2} \left(\frac{f(x)}{x^m} \right)' = (m-2k)n f_k(x).$$

Let $f = f_k(x)$. Then

$$f' = -2kn^2 x \frac{f}{1-n^2 x^2} + (m-2k)n \frac{f}{1+nx}.$$

From this, we obtain

$$\begin{aligned}
 f' - n^2x^{m+2} \frac{x^m f' - mx^{m-1}f}{x^{2m}} - (m-2k)nf & \\
 &= -\frac{2kn^2x}{1-n^2x^2}f + \frac{(m-2k)n}{1+nx}f - n^2x^2f' + mn^2xf - (m-2k)nf \\
 &= f \left(-\frac{2kn^2x}{1-n^2x^2} + \frac{(m-2k)n}{1+nx} + \frac{2kn^4x^3}{1-n^2x^2} - \right. \\
 &\quad \left. - \frac{(m-2k)n^3x^2}{1+nx} + mn^2x + (m-2k)n \right).
 \end{aligned}$$

Simple computation shows that the last expression is equal to zero, hence the proof is complete. □

Theorem 2.4. For every $l \geq 2$, we have

$$\int J_1(x)^2 dx \notin \mathbf{C}(x)[J_0(x), J_1(x)].$$

Proof. Suppose to the contrary that we have

$$\int J_1(x)^2 dx \in \mathbf{C}(x)[J_0(x), J_1(x)] = \mathbf{C}(x)[J_1(x), \delta J_1(x)].$$

Then there is a polynomial $F(x, \xi, \eta) \in \mathbf{C}(x)[\xi, \eta]$ such that

$$x\xi^2 = x \frac{\partial}{\partial x} F(x, \xi, \eta) + \eta \frac{\partial}{\partial \xi} F(x, \xi, \eta) + (n^2 - x^2)\xi \frac{\partial}{\partial \eta} F(x, \xi, \eta).$$

Consider homogeneous of degree two of this relation. We have

$$\delta H + (A_0 + (l^2 - x^2)A_1)H = xe,$$

where $e = (0, 0, 1)^t$. The vector function $H(x)$ is a rational solution of this equation. Writing $H(x)$ as a sum of simplest fractions and substituting into this equation we obtain

$$H(x) = \frac{C_k}{x^k} + \frac{C_{k-1}}{x^{k-1}} + \dots + \frac{C_1}{x} + B_0 + B_1x + \dots + B_nx^n,$$

where C_k, \dots, B_n are vector columns with elements from \mathbf{C} .

We obtain a system of equations for C_k, \dots, B_n which is analogous to system (2.4). Since the eigenvalues of matrix $A_0 + l^2A_1$ are equal to $-2l, 0, 2l$, there is inequality $k \leq 2l$ in the system (2.4).

Consider the subsystem with odd indices. From the first equations we obtain

$$C_1 = C_3 = \dots = 0.$$

Then the remaining equations are

$$\begin{aligned}
 (E + A_0 + l^2A_1)B_1 &= e, \\
 (3E + A_0 + l^2A_1)B_3 &= A_1B_1, \\
 &\dots\dots\dots \\
 ((2s + 1)E + A_0 + l^2A_1)B_{2s+1} &= A_1B_{2s-1}, \\
 A_1B_{2s+1} &= 0.
 \end{aligned}$$

A direct computation shows that

$$T_p = \sigma(pE + A_0 + l^2 A_1)^{-1} = \begin{pmatrix} \star & -1 & 1 \\ \star & 1 & -1 \\ \star & \star & \star \end{pmatrix}, \quad p = 1, 3, \dots$$

Therefore,

$$\sigma(B_1) = \pm(1, -1, \star)^t, \quad \sigma(A_1 B_1) = \pm(0, 1, -1)^t,$$

$$\sigma(B_3) = \pm(1, -1, \star)^t, \quad \sigma(A_1 B_3) = \pm(0, 1, -1)^t,$$

and so on

$$\sigma(B_{2s+1}) = \pm(1, -1, \star)^t.$$

But from the equation $A_1 B_{2s+1} = 0$ follows that $B_{2s+1} = (0, 0, \star)^t$, a contradiction. The proof is complete. \square

References

- [1] N. I. Fel'dman, A. B. Šhidlovskii, *The development and present state of the theory of transcendental numbers*, (Russian) Uspehi Mat. Nauk, **22** (1967), 3–81. [1](#)
- [2] O. Holder, *Memoire sur la fonction Γ* , Math. Annal, (1887), 1–13. [1](#)
- [3] I. Kaplansky, *An introduction to differential algebra*, Actualités Sci. Ind., Publ. Inst. Math. Univ. Nancago, Hermann, Paris, (1957). [1](#)
- [4] E. R. Kolchin, *Extensions of differential fields I, II, III.*, Ann. Math., **43** (1942), 724–729, Ann. Math., **45** (1944), 358–361, BAMS, **53** (1947), 397–401. [1](#)
- [5] L. Markus, *Differential independence of meromorphic functions*, University of Minnesota Research Report, (2003), 1–34. [1](#)
- [6] F. W. J. Olver, *Asymptotics and special functions*, Computer Science and Applied Mathematics. Academic Press [A subsidiary of Harcourt Brace Jovanovich, Publishers], New York-London, (1974). [2](#)
- [7] J. F. Ritt, *Integration in Finite Terms*, Liouville's Theory of Elementary Methods, Columbia University Press, New York, N. Y., (1948). [1](#)
- [8] J. F. Ritt, *Differential algebra*, American Mathematical Society Colloquium Publications, Vol. XXXIII, American Mathematical Society, New York, N. Y., (1950). [1](#)
- [9] A. B. Shidlovskii, *Transcendental numbers*, Translated from the Russian by Neal Koblitz, With a foreword by W. Dale Brownawell, De Gruyter Studies in Mathematics, Walter de Gruyter & Co., Berlin, (1989). [1](#)
- [10] A. B. Shidlovskii, *Transcendence of values of E-functions that are solutions of second-order linear differential equations*, (Russian), translated from Mat. Sb, **184** (1993), 75–84 Russian Acad. Sci. Sb. Math., **79** (1994), 63–71. [1](#)
- [11] P. Sibuya, *A remark on Bessel functions*, Differential equations, dynamical systems, and control science, Lecture Notes in Pure and Appl. Math., Dekker, New York, **152** (1994), 301–306. [1](#)
- [12] C. L. Siegel, *Über einige Anwendungen diophantischer Approximationen*, Abhandlungen der Preussischen Akademie der Wissenschaften, Physicalisch mathematische klasse 1929, Nr 1; (German) [On some applications of Diophantine approximations], 81–138, Quad./Monogr., 2, Ed. Norm., Pisa, (2014). [1](#), [2](#)
- [13] G. N. Watson, *A treatise on the theory of Bessel functions*, Cambridge University Press, Cambridge, England, The Macmillan Company, New York, (1944). [2](#)